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ANSWER 

                            THEORY I:  (PHYSICS) (QUESTIONS 1 - 11) 

 

Question 1  Answer: .............................. B.   Radiation only  ........................................................   (1 point) 

Question 2   (2.1) Answer: ........................... bulge out or crack ....................................................   (0.5 point) 

                     (2.2) Answer: ............................shrink.........................................................................   (0.5 point) 

Question 3  Answer: ............................... B. Light energy..............................................................   (1 point) 

Question 4  Answer: ..........C. The umbra is getting bigger. The penumbra is getting smaller.......   (1 point)  

Question 5  Answer: ........................................ C ...........................................................................   (1 point) 

Question 6  Answer: ........................  A. Her larynx is vibrating very fast. ...................................    (1 point) 

Question 7  Answer: ……………………….. air , mercury , glass ……………………………...   (1 point) 

Question 8  Answer: ........................................ B  ............................................................................ (1 point) 

Question 9  Answer: ........................................ C  (8 , 2) ................................................................. (1 point) 

Question 10  Answer: ......................... S (Darcy should install the switch S)..................................  (1 point) 

Question 11   (11.1) Answer:  ............................... 1m/s .................................................................  (1 point) 

                       (11.2) Answer:  ............................... zero ..................................................................  (0.5 point) 

                       (11.3) Answer  ................................ 4/7 = 0.57 m/s  .................................................  (0.5 point) 

 

 

 

 



 

 

 

    ANSWER 

     THEORY I:  (BIOLOGY) (QUESTIONS 12 - 23) 

   Question 12  Answer:   ........ C. protection of all physical and biological components. ........         ( 1 point ) 

   Question 13  Answer: .... Vulture , Millipede , Termite ..... (2/3 corrects  = 0.5 point , 3 corrects  = 1 point )  

                                                                                                                                                              ( 1 point )   

   Question 14  Answer: . ..... A. Bioaccumulation allows mercury to build up in the larger predatory fish. ... 

                                                                                                                                                               ( 1 point ) 

   Question 15  Answer: ...............................  C. Green   .................................................................   ( 1 point )   

   Question 16  Answer: ..............................B. Tank B ....................................................................   ( 1 point ) 

    Question 17  Answer: ............... B. Genes accelerating the formation of plant cell wall. ..........    ( 1 point ) 

   Question 18  Answer: ............................. A. DNA finger printing ..............................................    ( 1 point ) 

   Question 19  Answer: ............................. B. Coleopteran ............................................................    ( 1 point ) 

   Question 20  Answer: ............................. D. Lactic acid fermentation ........................................    ( 1 point ) 

   Question 21  Answer: .............................. C. Sharp teeth ............................................................    ( 1 point )  

   Question 22  Answer: .............................. D. Oviparousness ......................................................     ( 1 point ) 

   Question 23  Answer: .............................. D. stomach,  duodenum,  mouth ...............................     ( 1 point ) 

 

 

 

 

 



 

 

 
 

        ANSWER 

            THEORY I:  (EARTH SCIENCE) (QUESTIONS 24 - 33) 

 

 

Question 24  Answer: ...B. The distance between two closet outer planets is increasing when the 

                                         distance between the Sun and the planet closer to the Sun is increasing. ... 

                                                                                                                                               (1 pont ) 

Question 25  Answer: ................ A. Both of a solar eclipse and a spring tide ................   (1 point) 

Question 26  Answer: ...........................B. January, Summer ..........................................  (1 point) 

Question 27  Answer: ...........................B. 1.5 - 2.0 degree .............................................  (1 point) 

Question 28  Answer: ...........................C. Earth and Venus ...........................................  (1 point) 

Question 29  Answer: .......................... B. 34 meters ......................................................  (1 point) 

Question 30  Answer: .......................... C.  smaller particles ...........................................  (1 point) 

Question 31  Answer: .......................... D. Cirrostratus ...................................................  (1 point) 

Question 32  Answer: .......................... D ........................................................................   (1 point) 

Question 33  Answer: .......................... B. Photosynthesis ..............................................  (1 point) 

 

 

 

 



 

 

 

ANSWER 

                            THEORY I:  (CHEMISTRY) (QUESTIONS 34 - 38) 

Question  34  Answer: .................................. HDPE and LDPE .....................................  (1 point) 

Question  35  Answer: ............................... A. Maalox Alum Milk ................................  (1 point) 

Question  36  (2 points) 
 

Substance Volume Shape 

Wood Remain the same 

 

Remain the same 

 

Salad oil Remain the same 

 

Liquid pool, taking the shape of the 

surface it comes into contact with. or 

Liquid pool with large area 

Oxygen Occupy the entire volume of the large  

container 

Take the shape of the large container 

 

Scoring        Full credit:  1 point for volume and 1 point for shape 

                     Partial credit:   0.5 point for correction in two out of three states of matter 

Question  37   (1 point) 

                      The ball will ......explan......... because ......the air volume increases with increasing temperature... 

Scoring    Full credit:  correct answer with explanation 

                 Partial credit:  0.5 point for correct answer without explanation 

Question  38  Answer: .............. B<C<A<D .....................   

Scoring        Full credit:  B < C < A < D 


